
  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER, 2019. 

Third Year 

Accounting and Finance 

ACCOUNTING FOR MANAGERIAL DECISION 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions in 300 words each. 

1. Explain the scope of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß ÷|õUP® ¯õøÁ? 

2. Explain the importance of Financial Statements 
analysis. 

 {v AÔUøPPÒ £S¨£õ´Âß •UQ¯zxÁ® 

ÂÍUSP. 

3. From the following calculate : 

 (a) Creditors turnover ratio 

 (b) Average payment period  
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  Particulars   Rs. 

 Total purchase (gross)  2,00,000 

 Cash purchase   20,000 

 Purchase returns  34,000 

 Creditors end   70,000 

 Bills Payable end  40,000 

 ¤ßÁ¸® PnUQ¼¸¢x : 

(A) PhÜ¢÷uõº öPõÒ•uÀ ÂQu® 

(B) PnUS ‰»® ö\¾zu ÷Ási¯øÁPÎß 

\μõ\›. 

  ÂÁμ®    ¹. 

 ö©õzu öPõÒ•uÀ  2,00,000 

 öμõUP öPõÒ•uÀ  20,000 

 öPõÒ•uÀ v¸¨£®  34,000 

 CÖv PhÜ¢÷uõº   70,000 

 ö\.©õ.^mk CÖv   40,000 

4. Calculate cash from operations : 

             Particulars                                     Rs. 

  Net profit    1,00,000 

  Loss on sale of machinery 10,000 

  Depreciation on building 4,000 
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          Particulars                                     Rs. 

  Depreciation on machinery 5,000 

  Formation expenses written off 5,000 

  Provision for taxation  10,000 

  Goodwill written off  5,000 

  Gain on sale of building  8,000 

 öμõUP ÁÈ {vø¯U PõsP. 

                      ÂÁμ®                                     ¹. 

 {Pμ C»õ£®    1,00,000 

 G¢vμ® ÂØÓvÀ |mh®   10,000 

 Pmih ÷u´©õÚ®   4,000 

 G¢vμ ÷u´©õÚ®    5,000 

 Aø©¨¦a ö\»ÄPÒ ÷£õUöPÊu¨£mhx 5,000 

 Á› JxURk    10,000 

 |Øö£¯º ÷£õUöPÊu¨£mhx  5,000 

 Pmih® ÂØÓ ÁøP°À Buõ¯® 8,000 

5. Project Y has an initial investment of Rs. 5,00,000. 
Its cash flows for 5 years are 

  Rs. 1,50,000; 

  Rs. 1.80,000; 

  Rs. 1,50,000; 

  Rs. 1,32,000 and 

  Rs. 1,20,000. 

 Determine the payback period. 



 UG–245 4

 I¢x BskPÎß öμõUP Kmh® R÷ÇU 

öPõkUP¨£mkÒÍx. vmh® ‘Y’ vmhzvß ö\»Ä ¹. 

5,00,000 Ámi ÂQuzøu ¦ÓUPozx £n® 

ö\¾zx® Põ»zøuU PnUQk[PÒ. 

  ¹. 1,50,000; 

  ¹. 1.80,000; 

  ¹. 1,50,000; 

  ¹. 1,32,000 (©ØÖ®) 

  ¹. 1,20,000. 

SECTION B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. What arc the differences between Management 
Accounting and Financial Accounting? 

 ÷©»õsø© PnUQ¯À ©ØÖ® {v PnUQ¯À – 

÷ÁÖ£õkPÒ ¯õøÁ? 

7. Lokesh & Co. Ltd., furnishes its balance sheet for 
the years 2015 and 2016 and requests you to 
prepare a comparative balance sheet for those 
years. 

Liabilities 2015 
Rs. 

 2016 
Rs. 

 Assets 2015 
Rs. 

2016 
Rs. 

Share capital 80,000  80,000  Land and  

8% 
Debentures 

80,000  90,000  building 80,000 74,000

Creditors 50,000  70,000  Machinery 60,000 54,000
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Liabilities 2015 
Rs. 

 2016 
Rs. 

 Assets 2015 
Rs. 

2016 
Rs. 

Bills payable 10,000  15,000  Furniture 20,000 28,000

Retained     Debtors 40,000 80,000

earnings 40,000  49,000  Cash 20,000 8,000

     Inventory 40,000 60,000

 2,60,000  3,04,000   2,60,000 3,04,000

 ÷»õ÷Pè & P®ö£Û ¼ªm. 2015 ©ØÖ® 2016 

BsiØPõÚ J¨¤k® C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ 2015 
¹. 

 2016 
¹. 

 ö\õzxUPÒ 2015 
¹. 

2016 
¹. 

£[S •uÀ 80,000  80,000  {»® ©ØÖ®

8% Phß      Pmih® 80,000 74,000

£zvμ[PÒ 80,000  90,000  C¯¢vμ® 60,000 54,000

PhÜ¢÷uõº 50,000  70,000  AøÓP»ß 20,000 28,000

ö\.©õ.^mk 10,000  15,000  PhÚõÎPÒ 40,000 80,000

Á¸Áõ´ 40,000  49,000  öμõUP® 20,000 8,000

     \μUS 40,000 60,000

 2,60,000  3,04,000   2,60,000 3,04,000

8. With the help of the following ratios. Draw the 
Balance sheet of the company for the year 2018. 

 Current ratio    2.5 

 Liquidity ratio    1.5 

 Net working capital   Rs. 3,00,000 
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 Stock Turnover ratio (Cost of sales/   
closing stock)    6 times 

 Gross profit ratio   20% 

 Debt -collection period   2 months 

 Fixed Assets turnover ratio   
(on cost of sales)    2 times 

 Fixed Assets to shareholders net worth 0.80 

 Reserve and surplus to capital 0.50 

 uμ¨£mkÒÍ ÂQu[PÒ ©ØÖ® TkuÀ 

ÂÁμ[PÎ¼¸¢x 2018–B® BsiØPõÚ 

C¸¨¦{ø»U SÔ¨¦ u¯õº ö\´P. 

  |h¨¦ ÂQu®     2.5 

 xÀ¼¯ }ºø© ÂQu®   1.5 

 {Pμ ‰»uÚ®    ¹. 3,00,000 

 \μUQ¸¨¦ ÂØ£øÚ ÂQu®   

ÂØ£øÚ AhUP®/CÖv \μUQ¸¨¦   

 ö©õzu C»õ£ ÂQu®   20% 

 Phß ÷\P›¨¦ Põ»®   2 ©õu® 

 {ø» ö\õzx ÂQu® ÂØ£øÚ AhUP® 2 •øÓ 

 £[SuõμºPÐUS {ø» ö\õzvß {Pμ ©v¨¦ 0.80 

 ‰»uÚ C¸¨¦ ©ØÖ® E£›  0.50  

 6 •øÓ
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9. Prepare a cash budget from April to June : 
Months Sales  Purchases Expenses

February 1,80,000 1,24,800 12,000

March 1,92,000 1,44,000 14,000

April 1,08,000 2,43,000 11,000

May 1,74,000 2,46,000 10,000

June 1,26,000 2,68,000 15,000

 50% of the credit sales is collected in the month 
following and the remaining in the second month. 
Credit purchases are paid in the next month. Cash 
at bank on 1st April Rs. 25,000. 

 ¤ßÁ¸® ÂÁμ[PÎß C¸¢x H¨μÀ •uÀ áüß 

Áøμ öμõUPzvmh¨ £mi¯ø» u¯õ›UP. 

©õu® ÂØ£øÚ öPõÒ•uÀ ö\»ÄPÒ

¤¨μÁ› 1,80,000 1,24,800 12,000

©õºa 1,92,000 1,44,000 14,000

H¨μÀ 1,08,000 2,43,000 11,000

÷© 1,74,000 2,46,000 10,000

áüß 1,26,000 2,68,000 15,000

 Phß ÂØ£øÚ°À 50% Akzu ©õuzv¾®, 

«u•ÒÍøÁ CμshõÁx ©õuzv¾® 

÷\P›UP¨£kQßÓÚ. Phß öPõÒ•uÀ Akzu 

©õuzvÀ ö\¾zu¨£kQÓx. H¨μÀ 1–® ÷uv Á[Q°À 

öμõUP® ¹. 25,000. 
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10.  Prepare fund flow statement, from the following 
balance sheets : 

Balance Sheets 
Liabilities 2013 Rs.  2014 

Rs. 
Assets 2013 Rs. 2014 

Rs. 

Share Capital 1,00,000  1,25,000 Land & 

General Reserve 25,000  30,000 Buildings 1,00,000 95,000

Profit & Loss A/c 15,250  15,300 Plant & 

Bank Loan 35,000  – Machinery 75,000 84,500

Creditors 75,000  67,500 Inventories 50,000 37,500

Provision for     Sundry Debtors 40,000 32,000

Taxation 15,000  17,500 Cash 250 300

    Bank – 4,000

    Goodwill – 2,000

 2,65,250  2,55,300  2,65,250 2,55,300

 Additional Information : 

 (a) Dividend of Rs. 11,000 was paid during 2014. 

 (b)  Depreciation on plant written off in the year 
2014 was Rs. 7,000. 

 (c)  A provision for income tax Rs. 16,500 was 
made during the year. 
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  RÌUPõq® C¸¨¦{ø»U SÔ¨¤¼¸¢x,  {v Kmh 

AÔUøP u¯õº ö\´P. 

C¸¨¦ {ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ 2013  

¹. 

 2014 

¹. 

ö\õzxUPÒ 2013 

¹. 

2014 

¹. 

£[S •uÀ 1,00,000  1,25,000 {»® ©ØÖ®  

ö£õx Põ¨¦ 25,000  30,000 Pmih[PÒ 1,00,000 95,000

C»õ£/|mhU    uÍÁõh® ©ØÖ®  

PnUS 15,250  15,300 C¯¢vμ® 75,000 84,500

Á[Q Phß 35,000  – \μUQ¸¨¦PÒ 50,000 37,500

PhÜ¢÷uõº 75,000  67,500 £Ø£» PhÚõÎPÒ 40,000 32,000

Á›UPõÚ   öμõUP® 250 300

JxURk 15,000  17,500 Á[Q  – 4,000

   |ß ©v¨¦ – 2,000

 2,65,250  2,55,300  2,65,250 2,55,300

 TkuÀ Â£μ[PÒ : 

 (A) 2014–® BsiÀ £[Põuõ¯® ¹. 11,000 

ö\¾zu¨£mhx. 

 (B) 2014–® Bsiß uÍÁõh® «uõÚ ÷u´©õÚ® 

÷£õUS GÊv¯x ¹. 7,000 BS®. 

 (C) Ph¢u Bsk Á¸©õÚ Á›UPõÚ JxURk 

ö\´ux ¹.16,500 BS®. 
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11. A company whose cost of capital is 12% is 
considering two projects ‘M’ and ‘N’ the following 
data are available 

     Project M Project N 

  Investment  1,00,000 1,00,000 

  Cash flows 

  Year 1   10,000 30,000 

  Year 2   40,000 50,000 

  Year 3   30,000 80,000 

  Year 4   60,000 40,000 

  Year 5   90,000 60,000 

 Select the most suitable project by using the 
following methods. 

 (a) Payback period 

 (b) Net Present value 

 (c) Profitability Index 

 The Present value of  Rs. 1 at 12% are :  

   Year  1  0.9 

   Year  2  0.8 

   Year  3  0.7 

   Year  4  0.6 

   Year  5  0.55 
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 J¸ {ÖÁzvß •uÀ ö\»Ä 12% BP C¸US® ÷£õx 

A¢{Ö©zvß vmh® M ©ØÖ® vmh® N  °ß 

uPÁÀPÒ ¤ßÁ¸©õÖ. 

      M                         N 
  öμõUPa ö\»Ä  1,00,000 1,00,000 

  •u½k 

  1 Áx Á¸h®  10,000 30,000 

  2 Áx Á¸h®  40,000 50,000 

  3 Áx Á¸h®  30,000 80,000 

  4 Áx Á¸h®  60,000 40,000 

  5 Áx Á¸h®  90,000 60,000 

 Cv¼¸¢x RÌ öPõkUP¨£mhÁØøÓ Psk¤iUPÄ®. 

 (A) v¸¨¤ ö\¾zx® Põ»® 

(B) {Pμ ©v¨¦ •øÓ 

(C)  C»õ£ DÄ Dmk® •øÓ BQ¯ÁØøÓ PnUQkP 

{Pμ ©v¨¦ ¹. 1 US 12%, 

   •u»õ® Bsk 0.9 

   Cμshõ® Bsk  0.8 

   ‰ßÓõ® Bsk 0.7 

   |õßPõ® Bsk 0.6 

   I¢uõ® Bsk 0.55 

12. What do you understand by ‘Capital Budgeting 
Process’? 

 ‰»uÚ vmhzvß ö\¯À•øÓ ‰»® }[PÒ GßÚ 

¦›¢x öPõÒQÕºPÒ? 

_____________ 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER, 2019. 

Third Year 

Accounting and Finance  

COST ACCOUNTING  

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the requisites of a good costing system? 

 J¸ |À» AhUPÂø» •øÓUPõÚ ]Ó¨¦PÒ ¯õøÁ? 

2. Compute the various stock levels from the 
following data: 

 Maximum consumption in a month —300 Units 
 Minimum usage in a month — 200 Units 
 Average usage in a month —225 Units 
 Time-lag for procurement of materials: 
 Maximum 6 months 
 Minimum 2 months 
 Reorder quantity 750 Units. 

 UG–244 BAF–34
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 RÌPõq® Â£μ[PÎ¼¸¢x £À÷ÁÖ \μUS C¸¨¦ 

{ø»PøÍ PnUQkP.  

 J¸ ©õuzvÀ AvP£m\ E£÷¯õP® & 300 A»SPÒ  

 J¸ ©õuzvÀ SøÓ¢u£m\ E£÷¯õP® & 200 A»SPÒ  

 J¸ ©õuzvÀ \μõ\› E£÷¯õP® & 225 A»SPÒ  

 ‰»¨ö£õ¸Ò öPõÒ•u¾UPõÚ Põ» CøhöÁÎ : 

 AvPÍÄ 6 ©õu[PÒ  

 SøÓ¢ux 2 ©õu[PÒ  

 ©Ö Bøn AÍÄ 750 A»SPÒ. 

3. Apportion the overheads among the departments 
P, Q, R and S. 

 Rs. 

Work’s Manager’s Salary 4,000

Contribution to P.F. 9,000

Plant maintenance 4,000

Canteen expenses 12,000

Power 21,000

Depreciation 20,000

Rent 6,000
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 Additional Information : 

Particulars P Q R S 

No. of employees 16 8 4 4 

Area occupied (sq.ft) 2000 3000 500 500 

Value of plant (Rs.) 75,000 1,00,000 25,000 - 

Wages (Rs.) 40,000 20,000 10,000 5,000

Horse power 3 3 1 - 

 P, Q, R  ©ØÖ® S xøÓPÐUS ÷©Øö\»ÄPøÍ 

£Qº¢uÎUPÄ®.  

 ¹. 

£o ÷©»õÍμx \®£Í® 4,000

P.F. US £[PÎ¨¦ 9,000

C¯¢vμ £μõ©›¨¦ 4,000

÷Psjß ö\»ÄPÒ 12,000

G› \Uv 21,000

÷u´©õÚ® 20,000

ÁõhøP 6,000
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 TkuÀ uPÁÀPÒ :  

Â£μ[PÒ P Q R S 

£o¯õÍº GsoUøP 16 8 4 4 

£Sv £μ¨£ÍÄ & \xμ Ai 2000 3000 500 500 

C¯¢vμzvß ©v¨¦ ¹. 75,000 1,00,000 25,000 - 

T¼ (¹.) 40,000 20,000 10,000 5,000 

Svøμ \Uv 3 3 1 - 

4. A product passes through three processes. During 

March 2001, 1,000 finished units were produced 

with the following expenditure: 

 Process A Process B Process C

Direct Materials 2,500 3,600 3,000 

Direct Wages 6,000 5,000 4,000 

 Overhead expenses amounted in all to Rs. 7,000 

they are to be apportioned on the basis of direct 

wages. Main raw materials issued to Process A 

(besides above) were worth Rs. 7,000. Ignoring the 

question of stock. Prepare the Process Accounts 

concerned. 
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 J¸ u¯õ›¨¦ ‰ßÖ ö\¯À•øÓPÍõÀ ö\ÀQÓx. 

©õºa 2001CÀ, 1000 •i¢ux ¤ßÁ¸® 

ö\»ÂÚ[PÐhß EØ£zv ö\´¯¨£mhÚ.  

 ö\¯À•øÓ A ö\¯À•øÓ B ö\¯À•øÓ C

÷|μi ö£õ¸mPÒ 2,500 3,600 3,000 

÷|μi Fv¯® 6,000 5,000 4,000 

 ÷©À{ø» ö\»ÄPÒ ¹. 7,000 AÁºPÒ JxUP¨£h 

÷Ásk® ÷|μi Fv¯zvß Ai¨£øh°À. 

ö\¯À•øÓ A US ÁÇ[P¨£mh •UQ¯ 

‰»¨ö£õ¸mPÒ (uÂμ ÷©÷») ¹. 7,000. £[S £ØÔ¯ 

÷PÒÂø¯ A»m]¯® ö\´QÕºPÒ. u¯õº ö\´ 

ö\¯»õUP PnUSPÒ. 

5. From the following data which product would you 
recommend to be manufactured in a factory, time 
being the Key-factor? 

 Per Unit of  
Product ‘M’ Rs. 

Per Unit of  
Product ‘N’ Rs. 

Direct material 24 14 

Direct labour Rs. 1 per hour 2 3 

Variable OH @ Rs. 2 per hour 4 6 

Selling price 100 110 

Stand time to product  2 hours  3 hours 
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 RÌPõq® Â£μ[PÎ¼¸¢x ÷|μ® •UQ¯ Põμo¯õP 

C¸US® u¸Áõ°À Bø»°ß EØ£zvUS 

G¨ö£õ¸øÍ }Âº £›¢xøμ ö\´Ãº. 

 ö£õ¸Ò ‘M’ Kº  

A»QØS  

(¹.) 

ö£õ¸Ò ‘N’ Kº  

A»QØS  

(¹.) 

÷|μi ‰»¨ö£õ¸ÒPÒ 24 14 

÷|μi T¼  

(1 ©o ÷|μzvØS 

1 ¹£õ´ Ãu®) 

2 3 

©õÖ® ö\»Ä  

(1 ©o ÷|μzvØS 

2 ¹. Ãu®) 

4 6 

ÂØ£øÚ Âø» 100 110 

EØ£zv vmh  

AÍÄ ÷|μ® 
2 ©o ÷|μ® 3 ©o ÷|μ® 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Prepare a cost sheet from the following 
information to show total cost of production and 
cost per unit of production for the month of July. 
Also find out the cost of sales. 

Material stock July, 1 3,000
Material purchases 28,000
Material stock July, 31 4,500
Manufacturing wages 7,000
Depreciation of plant 1,500
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Loss on sale of plant 300
Finished goods stock July, 1 2,800
Finished goods stock July, 1 200 units
Factory rent and rates 3,000
Office rent 500
General expenses  300
Discount on sales  300
Advertisements 600
Income tax paid 2,000
Finished goods stock July, 31 ?
Finished goods stock July, 31 400 units

 The number of units produced during July was 
3000. 

 ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x áüø» ©õuzvÀ 

ö©õzu EØ£zv AhUP® ©ØÖ® J¸ A»Qß EØ£zv 

AhUP® BQ¯ÁØøÓ Põs¤US® AhUP Âø» 

£mi¯ø» u¯õ›UP. ÷©¾® ÂØ£øÚ AhUP 

Âø»ø¯²® PõsP.  

Pa\õ¨ ö£õ¸Ò áüø» 1À \μUQ¸¨¦ 3,000
Pa\õ¨ ö£õ¸Ò öPõÒ•uÀ 28,000
Pa\õ¨ ö£õ¸Ò áüø» 31À \μUQ¸¨¦ 4,500
EØ£zv T¼ 7,000
ö£õÔÁøP «x ÷u´©õÚ® 1,500
ö£õÔ ÂØÓvÀ |mh® 300
•iÄØÓ \μUQ¸¨¦ áüø» 1 2,800
•iÄØÓ \μUQ¸¨¦ 200 A»SPÒ

áüø» ÁõhøP ©ØÖ® Á›................ 3,000
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A¾Á»P ÁõhøP 500
ö£õx ö\»ÄPÒ 300
ÂØ£øÚ «uõÚ uÒÐ£i 300
ÂÍ®£μ® 600
Á¸©õÚ Á› ö\¾zv¯x 2,000
•iÄØÓ \μUQ¸¨¦ áüø» 31 ?
•iÄØÓ \μUQ¸¨¦ áüø»  400 A»SPÒ

 áüø» ©õu® EØ£zv ö\´u A»SPÎß GsoUøP 

3,000. 

7. Draw a stores ledger card recording the following 
transaction under “FIFO” method. 2009 July, 1 
opening stock 2,000 units at 10 each. 

2009  
July 1 Opening stock 2,000 units at ‘10 each 
July 5 Received 1,000 units at ‘11 each 
July 6 Issued 500 units 
July 10 Received back 50 units out of the issue  

made on 6th July 
July 11 Issued 600 units 
July 18 Returned to supplier’s 100 units out of goods  

received on 5th July 
July 19 Received back 100 units out of the Issue made 

on 14th July 
July 20 Issued 150 units 
July 25 Received 500 units @ ‘14 each 
July 26 Issued 300 units 

 According to stock verification report it was found 
that there was a shortage by 10 units on 18th July 
and 15 units on 26th July. 
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 RÌUPsh uPÁÀPøÍU öPõsk, •u¼À Á¢x 

•u¼À ö\À¾® (FIFO) •øÓ Ai¨£øh°À £shP 

÷£÷μk PnUS u¯õ›UP.  

2009  

áüø» 1 Bμ®£ C¸¨¦ ¹. 10 Ãu® 2000 A»SPÒ 

áüø» 5 1000 A»SPÒ ¹. 11 Ãu® ö£ØÓx 

áüø» 6 ÁÇ[PÒ 500 A»SPÒ 

áüø» 10 áüø» 6 B® ÷uv ÁÇ[Q¯vÀ 50 A»SPÒ  

v¸®£¨ ö£Ó¨£mhx 

áüø» 11 ÁÇ[PÒ 600 A»SPÒ 

áüø» 18 áüø» 5B® ÷uv AÝ¨¦Ú›hª¸¢x ö£Ó¨£mhv¼¸¢x 

100 A»SPÒ v¸¨¤ AÝ¨£¨£mhx 

áüø» 19 áüø» 14 AßÖ ÁÇ[Q¯v¼¸¢x 100 A»SPÒ  

v¸®£ ö£Ó¨£mhx 

áüø» 20 ÁÇ[PÀ 150 A»SPÒ 

áüø» 25 ¹. 14 Ãu® 500 A»SPÒ ö£Ó¨£mhx 

áüø» 26 ÁÇ[PÀ 300 A»SPÒ 

 \μUQ¸¨¦ \›£õº¨¦ AÔUøP°ß Áõ°»õP 18B® 

÷uv AßÖ 10 A»SPÐ® 26 B® ÷uv 15 

A»SPÐ® SøÓÄ Gß£x öu›¯Á¢xÒÍx.  

8. From the following particulars. Prepare the labour 
cost per man day of 8 hours: 

 (a) Basic salary - Rs. 100 per day 

 (b) Dearness Allowance - Rs. 2.50 per every 
point over 100 points cost of living index of 
working class current index is 700 points. 

 (c) Leave salary - 10% of (a) and (b) 
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 (d) Employer’s contribution to provident fund - 
8% of (a), (b) and (c) 

 (e) Employer’s contribution to state insurance - 
2.5% of (a),(b) and (c) 

 (f) Expenditure to amenities to labour - Rs. 200 
per head per month 

 (g) No. of working days in a month — Rs. 25 
days of 8 hours 

 R÷ÇUöPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x |õÒ 

JßÔØS ©Ûu EøÇ¨¦ AhUP Âø»ø¯U 

PnUQkP.  

 (A) Ai¨£øh \®£Í® & ¹. 100 |õÒ JßÖUS  

 (B) £g\¨£i & ÁõÌUøP ö\»Ä SÔ±k 100 

¦ÒÎPÐUS ÷©À JÆöÁõ¸ ¦ÒÎPÐUS® ¹. 

2.50 |h¨¦ SÔ±k 700 ¦ÒÎPÒ  

 (C) Âk¨¦ \®£Í® & 10 ¹. (A) ©ØÖ® (B)À  

 (D) öuõÈ»õÍº ÷\©|» {v £[PÎ¨¦ & 8 ¹. (A) 

(B) ©ØÖ® (C)À  

 (E) öuõÈ»õÍº ©õ{ø»U Põ¨¥k £[PÎ¨¦ & 2.5 

(A) (B) ©ØÖ® (C)À 

 (F) öuõÈ»õÍº |» Á\vUPõP ö\»ÄPÒ & ¹. 200 

|£º JßÖUS JÆöÁõ¸ ©õu•®  

 (G) ©õuzvß ÷Áø» |õmPÎß GsoUøP &  

25 |õmPÒ, 8 ©oPÒ 
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9. The profits shown in the financial accounts was 
Rs. 1,12,870 and for the same period the cost 
accounts showed a profit of Rs. 27,040. 
Examination of the accounts showed the following 
differences : 

 Cost Accounts  
Rs. 

Financial Accounts
Rs. 

Depreciation 98,260 1,05,200 
Stock valuation   
 Opening stock 2,75,100 2,55,000 
 Closing stock 1,82,180 1,87,500 
Profit on sale of asset - 8,500 
Dividend received - 26,350 
Imputed rent charge 32,500  

 Reconcile the profit figures.  

 {v°¯À PnUQß£i »õ£® ¹. 1,12,870 ÷©¾® 

A¢uõsiß AhUP Âø» PnUS Põmk® »õ£®  

¹. 27,040. PnUSPøÍ Bμõ´¢uuv¼¸¢x RÌPsk 

÷ÁÖ£õkPÒ PõsQßÓx.  

 AhUPÂø» 

PnUS ¹. 

{v PnUS 

¹. 

÷u´©õÚ® 98,260 1,05,200 

\μUS ©v¨¦ :   

   Bμ®£ \μUS 2,75,100 2,55,000 

   CÖv \μUS 1,82,180 1,87,500 

ö\õzx ÂØ£øÚ°ß C»õ£® - 8,500 

£[Põuõ¯® ö£ØÓx - 26,350 

ÁõhøP PnUQmhx 32,500  

 »õ£ öuõøPø¯ \›Pmi PõmkP.  
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10. From the following information relating to quick 
stock ltd., You are required to find out. 

 (a) Contribution 

 (b) Break -even point 

 (c) Margin of safety  

 (d) Profit. Total fixed cost -‘4,500 Total Variable 
cost -‘7,500 Total Sales -‘15,000 Unites sold - 
5000(units) 

 (e)  Also, calculate the volume of sales to earn a 
profit of ‘6,000. 

 S°U ìhõshºk {ÖÁÚzvß ¤ßÁ¸® 

ÂÁμ[PøÍU öPõsk ¤ßÁ¸ÁÚÁØøÓU PõsP. 

 (A) £[PÎ¨¦  

 (B) C»õ£ |mh® CÀ»õu ¦ÒÎ A»SPÎÀ  

 (C) £õxPõ¨¦ Ea\Áμ®¦  

 (D) C»õ£® : 

   ö©õzu {ø»zu ö\»Ä & ¹. 4,500  

   ö©õzu ©õÖ® ö\»Ä & ¹. 7,500 

   A»SPÒ & 5000 (A»SPÒ) 

 (E) ¹. 6,000 C»õ£® Aøh¯z ÷uøÁ¯õÚ 

ÂØ£øÚ AÍÂøÚ²® PõsP.  
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11. The standard cost of a chemical mixture is: 

 40% Material A at Rs 20 per kg 

 60% Material b at Rs, 30 per kg. 

 A standard loss of 10% is expected in production. 
During a period, there is used: 

 90 Kgs Material A at cost of Rs. 18 per Kg. 

 110 Kgs Material B at a cost of Rs 34 per Kg 

 The Weight produced is 182 Kgs of good product. 

 Calculate: 

 (a) Material Price Variance 

 (b)  Material Mix Variance  

 (c) Material Yield Variance 

 (d) Material Cost Variance 

 J¸ ÷Áv¯À P»øÁ°ß vmh AhUPÂø» 

¤ßÁ¸©õÖ : 

 Q÷»õ JßÖ ¹. 20 Ãu®, Pa\õ¨ ö£õ¸Ò A&À 40% 

 Q÷»õ JßÖ ¹. 30 Ãu®, Pa\õ¨ ö£õ¸Ò B&À 60% 

 EØ£zv°À vmhªh¨£mh |mh® 10% 

 |h¨¦ BsiÀ £¯ß£kzu¨£mhøÁ : 

 Pa\õ¨ ö£õ¸Ò A&À 90 Q÷»õ, AhUP® Q÷»õ JßÖ 

¹. 18 Ãu®. 

 Pa\õ¨ ö£õ¸Ò B&À 110 Q÷»õ, AhUP® Q÷»õ JßÖ 

¹. 34 Ãu®. 

 EØ£zv ö\´¯¨£mhvÀ (Gøh°À) 182 Q÷» 

|À»øÁ. 
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 PnUQkP.  

 (A) Pa\õ¨ ö£õ¸Ò Âø» ©õÖ£õk 

 (B) Pa\õ¨ ö£õ¸Ò P»øÁ ©õÖ£õk 

 (C) Pa\õ¨ ö£õ¸Ò v¸¨£® (Yield) ©õÖ£õk 

 (D) Pa\õ¨ ö£õ¸Ò AhUP ©õÖ£õk. 

12. What is process costing? Discuss the salient 
features and principles of process costing.  

 £i•øÓ, AhUPÂø» PnUQ¯À GßÓõÀ GßÚ? 

£i•øÓ AhUPÂø» PnUQ¯¼ß ]Ó¨¦ A®\[PÒ 

©ØÖ® ÷Põm£õkPøÍ ÂÁõv.  

––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

Third Year 

Accounting and Finance 

INCOME TAX 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Who is a ‘Person’ as per the Income Tax Act 1961? 
 Á¸©õÚ Á›a \mh® 1961Cß £i ‘|£º’ ¯õº? 

2. Mr. ‘Mohan’ Owns a house at Anna Nagar and 
Submits the following particulars : 

 Rs. 

Rent received 1,75,000 

Standard rent              1,60,000 

Municipal Valuation   1,70,000 

Fair rental Value         1,72,000 

 Municipal taxes is 12% of MV +2% of municipal 
taxes as surcharge. 

 UG–243 BAF–33
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 v¸. ÷©õPß Asnõ|P›À J¸ Ãmøh ö\õ¢u©õPU 

öPõsk ¤ßÁ¸® ÂÁμ[PøÍa \©º¨¤UQÓõº. 

 ¹. 

ÁõhøP ö£Ó¨£mhx 1,75,000 

uμ ÁõhøP 1,60,000 

|Pμõm] ©v¨¦ 1,70,000 

{¯õ¯©õÚ ÁõhøP 1,72,000 

 |Pμõm] Á› 12% ©ØÖ® 2% |Pμõm] Á›PÎÀ TkuÀ 

Pmhn®. 

3. What are the Professional receipts and 
Professional expenses? 

 öuõÈÀ•øÓ Cμ^xPÒ ©ØÖ® öuõÈÀ •øÓ 

ö\»ÄPÒ ¯õøÁ? 

4. Explain the format of short and long term capital 
gain. 

 SÖQ¯ ©ØÖ® }sh Põ» ‰»uÚ Buõ¯zvß 

£iÁzøu ÂÍUSP. 

5. Mr. Sri submits the following information relevant 
for the assessment year 2019-20. 

 Salary income    Rs. 5,60,000 
 Business income    Rs. 1,80,000 
 House property income   Rs. 20,000 
 STCG     Rs. 90,000 
 LTCG     Rs. 2,20,000 

 Calculate total income. 
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 v¸. ÿ 2019–2020 ©v¨¥mk Bsk öuõhº£õÚ 

¤ßÁ¸® uPÁÀPøÍ \©º¨¤UQÓõº. 

 \®£Í Á¸©õÚ®   ¹. 5,60,000 

 ÁoP Á¸©õÚ®    ¹. 1,80,000 

 Ãmk ö\õzx Á¸©õÚ®   ¹. 20,000 

 SÖQ¯Põ» ‰»uÚ® Buõ¯® ¹. 90,000 

 }shPõ» ‰»uÚ® Buõ¯® ¹. 2,20,000 

 ö©õzu Á¸©õÚzøuU PnUQkP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. State the provisions of the Income Tax act 

regarding gratuity received. 

 ö£Ó¨£mh £oöPõøh öuõhº£õÚ Á¸©õÚ 

Á›a\mhzvß ÂvPøÍ SÔ¨¤kP. 

7. What are the deductions available in computation 

of incomes from other sources? 

 ¤Ó ÁÈ Á¸©õÚ[PøÍ PnUQkÁvÀ QøhUS® 

PÈÄPÒ ¯õøÁ? 
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8. Which of the following incomes are taxable when 
the residential status of Mr. Krishna Murthy is : 

 (a) Resident 

 (b) Not Ordinarily Resident 

 (c) Non-Resident 

  (i) Income accrued in agriculture in 
Bangladesh but received in India  
Rs. 1,80,000. 

  (ii) Rs. 10,000 earned in Africa and 
received there but brought to India. 

  (iii) Rs. 12,000 earned in India but received 
in Canada. 

  (iv) Rs. 1,20,000 earned and received in 
Srilanka from business controlled from 
India. 

  (v) Income from House property situated 
in Pakistan. Rs. 15,000. 

  (vi) Gift in cash from a relative received in 
India Rs. 60,000   

  (vii) Profits earned from a business in 
Kanpur Rs. 15,000. 

   (viii) Interest on saving Bank Deposit in 
SBM. Delhi. Rs. 11,200. 
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 v¸. Q¸èn ‰ºzv°ß Si²›ø© {ø» 

 (A) \õuõμn Si°¸¨¦øh¯Áº 

 (B) \õuõμn Si°¸¨¦ AÀ»õuÁº 

 (C) SÔ°¸¨¦ AØÓÁº 

 BP C¸¢uõÀ, ¤ßÁ¸® Á¸©õÚ[PøÍ GÆÁõÖ Á› 

Âv¨¦US Em£kzu¨£k®. 

  (i) £[PÍõ÷uæÀ ÂÁ\õ¯zvÀ Qøhzu 

Á¸Áõ´ BÚõÀ C¢v¯õÂÀ 

ö£Ó¨£mhx ¹. 1,80,000. 

  (ii) ¹. 10,000 B¨¤›UPõÂÀ \®£õvzx 

ö£Ó¨£mhx BÚõÀ C¢v¯õÄUS 

öPõsk Áμ¨£mhx. 

  (iii) ¹. 12,000 C¢v¯õÂÀ \®£õvzux 

BÚõÀ PÚhõÂÀ ö£Ó¨£mhx. 

  (iv) ¹. 1,20,000 ÿ»[PõÂÀ \®£õvzx 

ö£Ó¨£mh Â¯õ£õμzvß Pmk¨£õk 

C¢v¯õÂÀ EÒÍx. 

  (v) £õQìuõÛÀ C¸¢x ö£Ó¨£mh Ãmk 

ö\õzx Á¸©õÚ® ¹. 15,000. 

  (vi) C¢v¯õÂÀ EÒÍ EÓÂÚ›hª¸¢x 

ö£Ó¨£mh öμõUP £›_ ¹. 60,000   

  (vii) Põß§›¼¸¢x Dmi¯ Â¯õ£õμ  C»õ£® 

¹. 15,000. 

   (viii) vÀ¼ EÒÍ SBM  Á[Q øÁ¨¦z öuõøPa 

÷\ª¨£uØPõÚ Ámi ¹. 11,200. 
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9. Calculate income from house property of  
Mr. Thiyagu who owns two houses. The details are 
as follows : 

Particulars House A House B
MRV 80,000 1,00,000
Fair Rent 90,000 1,10,000
Standard Rent                          85,000 NA
AR 1,02,000 –
Municipal Taxes paid                   3,000 2,000
URR 8,000 –
Interest on capital borrowed [due]  8,000 15,000
Nature of occupation                   L/O S/O

 Determine the House property income for the 
Assessment year 2019-20. 

 v¸. v¯õS AÁºPÎß Si°¸UP BUQμªzxÒÍ 

Cμsk ÃkPÎß ÂÁμ® ¤ßÁ¸©õÖ : 

ÂÁμ® Ãk A Ãk B 
|Pμõm] ©v¨¦ 80,000 1,00,000
{¯õ¯©õÚ ©v¨¦ 90,000 1,10,000
uμ ÁõhøP                          85,000 NA
Esø©¯õÚ ÁõhøP 1,02,000 –
|Pμõm] Á› ö\¾zv¯x 3,000 2,000
A[RP›UP¨£hõu ÁõhøP 8,000 –
Ãk Pmh Áõ[Q¯ Phß  

«uõÚ Ámi 

8,000 15,000

BUQμª¨¤ß C¯À¦             ÁõhøP BUQμª¨¦ _¯ BUQμª¨¦

 Á› Âv¨¦ Bsk 2019–2020 ß £i Ãmk ö\õzx 

Á¸©õÚzøu wº©õÛUPÄ®. 
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10. The profit and loss a/c of Ravi for the year ended 
31.3.2018 as follows : 

 Rs.   Rs. 

To proprietor salary 10,000  By gross profit 50,000

To staff salary 15,000  By profit on sale of car 15,000

To general expenses 7,000  By Bad debts recovered 5,000

To interest on capital 2,000  By Interest on Govt. 
securities  

4,000

To Bad debts 1,000  By dividend  4,000

To Advertisement  2,700  By Interest on P.O. 
savings account  

4,000

To Fire insurance 
premium 

1,000   

To depreciation 3,000   

To reserve for bad 
debts 

1,000   

To income tax 4,000   

To donation to school 3,000   

To car expenses  3,000   

To net profit 29,300   

 82,000   82,000

 (a) Depreciation allowed Rs. 2,500 

 (b) Drawings of the proprietor Rs. 500 included 
in general expenses. Compute business 
income of Ravi. 
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 v¸. CμÂ AÁºPÎß C»õ£ |mh PnUS 31.03.2018 

CÖv°À. 

 ¹.   ¹. 

£o¯õÍ›ß 

\®£Í® 

10,000  ö©õzu C»õ£® 50,000

E›ø©¯õÍº 

\®£Í® 

15,000  ÁõμõUPhß Á`À 

•ßÚº ©ÖUP¨£mhx

15,000

ö£õx ö\»ÄPÒ 7,000  Põº ÂØ£øÚ°À 

C»õ£® 

5,000

‰»uÚzvß «uõÚ 

Ámi 

2,000  Aμ\õ[P ¤øn¯[PÒ

«uõÚ Ámi 

4,000

ÁμõUPhß 

ÂÍ®£μ® 

1,000
2,700

 £[Põuõ¯® 

P.O.÷\ª¨¦ PnUQß 

Ámi 

4,000

4,000

Põ¨¥mk 1,000   

÷u´©õÚ® 3,000   

ÁõμõUPhÝUPõÚ 

JxURk 

1,000   

Á¸©õÚ Á› 4,000   

£ÒÎUS |ßöPõøh 3,000   

Põº ö\»ÄPÒ 3,000   

{Pμ C»õ£® 29,300   

 82,000   82,000

 Á¸©õÚ Á› ÂvPÎß £i AÝ©vUP¨£mh 

÷u´©õÚ® ¹. 2,500 ©ØÖ® ö\õ¢u £¯ß£õmiØPõP 

Gk¨¦ ¹. 500 ö£õx ö\»ÄPÎÀ ÷\ºUP¨£mkÒÍx. 

CμÂ°ß ÁoP Á¸©õÚzøu PnUQkP. 
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11. Agricultural land purchased by Mr. X (resident) in 
2004-05 for Rs. 90,000. Sold for Rs. 15,00,000 on  
1-6-2018. The assessee purchased another piece of 
agricultural land on 1-9-2018 for Rs. 98,000 and 
deposited Rs. 60,000 on 1-7-2018 in Capital Gains 
Account Scheme 1988. Find out the Capital Gain 
chargeable to tax for the A.Y. 2019-20. The cost 
inflation index in 2004-05 was 113 and in  
2018-19 = 280. 

 v¸. X Gß£Áº 2004–2005–À ¹. 90,000 öPõkzx 

ÂÁ\õ¯ {»zøu JßÖ Áõ[QÚõº. 1.6.2018 AßÖ  

¹. 15,00,000  {»zøu  ÂØ£øÚa ö\´uº. Á› 

Âv¨¦US›¯Áº ©ØöÓõ¸ ÂÁ\õ¯ {»zøu 1.9.2018 

AßÖ ¹. 98,000 ©ØÖ® øÁ¨¦ ¹. 60,000 øu 

1.7.2018 AßÖ ‰»uÚ Buõ¯ PnUSz vmh® 1988 

ö\¾zv²ÒÍõº. Á›Âv¨£õsk 2019–20 ß £i 

‰»uÚ Buõ¯zøuU PnUQkP. 

 (A.S.G. 2004–05 = 113 ©ØÖ® 2018–19 = 280) 

12. Mr. Srikanth, (Resident) is employed by the 
Central Government since 2008. He submits the 
following particulars of his income and 
expenditure for the P.Y 2018-19. Compute his 
total income. 

 (a) Income from salary 5,00,000 

 (b) Income from other source 2,00,000 

 (c) Contribution towards PPF Rs. 70,000 
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 (d) Deposit in notified annuity plan of LIC  
Rs. 5,000 

 (e) Own contribution towards NPS Rs. 60,000 
and employer's contribution NPS is  
Rs. 50,000. 

 ¤ßÁ¸® uPÁÀPøÍ 2008B® Bsk ©zv¯ Aμ]ß 

öPõsh Á¸©õÚ®  ©ØÖ®  ö\»ÄPÒ v¸. ÿ Põ¢z 

(Si²›ø©) AÁºPÒ u¸QÓõº. 2018–19 Á›Âv¨¦ 

BskUPõÚ v¸. ÿPõ¢u AÁºPÎß ö©õzu 

Á¸Áõø¯U PnUQkP. 

 (A) \®£Ízv¼¸¢x Á¸©õÚ® ¹. 5,00,000 

 (B) ¤Ó ÁÈ Á¸©õÚ® ¹. 2,00,000 

 (C) PPF £[PÎ¨¦ ¹. 70,000 

 (D) AÔÂUP¨£mh Á¸hõzvÀ vmhzvß GÀ.á.] 

øÁ¨¦ ¹. 5,000 

 (E) NPS ö\õ¢u £[PÎ¨¦ ¹. 60,000 ©ØÖ® NPS 

•u»õÎ°ß £[PÎ¨¦ ¹. 50,000. 

 

——––––––––– 



  

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

Third Year 

Accounting and Finance 

AUDITING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What are the advantages of Audit note book? 

 uoUøP SÔ¨÷£miß |ßø©PÒ ¯õøÁ? 

2. Explain the Audit procedure for verification of 
liabilities. 

 ö£õÖ¨¦PøÍ  \›£õºUQßÓ ÷£õx uoUøP¯õÍº 

PÁÛUP ÷Ási¯øÁ ÂÍUSP 

3. What is secret reserve? How is it created? 

 CμP]¯ Põ¨¦ GßÓõÀ GßÚ? Ax GÆÁõÖ 

E¸ÁõUP¨£kQßÓx? 

 UG–242 BAF–32
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4. Explain the points to be considered by an Auditor 
before commencing investigation. 

 ¦»Úõ´Ä öuõh[SÁuØS •ß PÁÚzvÀ öPõÒÍ 

÷Ási¯ ö|Ô •øÓPøÍ ÂÍUSP. 

5. What are the special consideration in company 
Audit? 

 {ÖÁÚ uoUøP°ß ]Ó¨¦ ÁÈ•øÓPÒ ¯õøÁ? 

SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. What are the difference between vouching for 
trading transaction and cash transaction? 

 Â¯õ£õμ £›ÁºzuøÚ ©ØÖ® öμõUP £›ÁºzuøÚ°ß 

EÒÍ \õßÓõ´ÂÀ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

7. Distinguish between internal check and internal 
control. 

 AP^μõ´ÄUS® APzuoUøPUS® EÒÍ 

÷ÁÖ£õmøh u¸P. 

8. Discuss the duties of an Auditor regarding the 
maintenance of reserve. 

 C¸¨¦ £μõ©›¨¦ SÔzx J¸ uoUøP¯õÍº 

Phø©PøÍ ÂÁõvUPÄ®. 
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9. Discuss the qualification and disqualification of a 
person to appointed as company Auditor. 

 J¸ |£›ß {Ö© uoUøP¯õÍμõP {¯ªUS® ÷£õx 

uSv ©ØÖ® uSv°ßø©ø¯ £ØÔ ÂÍUSP. 

10. Explain the civil liabilities of an Auditor. 

 uoUøP¯õÍ›ß Siø© ö£õÖ¨¦PøÍ ÂÍUSP. 

11. Explain the basic principles should be followed by 
the professional accountance. 

 öuõÈÀ •øÓ PnUPõÍº ¤ß£ØÖ® Ai¨£øh 

öPõÒøPPøÍ ÂÍUSP. 

12. What are the problems EDP environment? 

 EDP `Ì{ø»°ß  ¤μa\øÚPÒ ¯õøÁ? 

——––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER 2019. 

Third Year 

Corporate Secretaryship 

BUSINESS FINANCE 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1.  What are the objectives of Business finance? 
 Â¯õ£õμ {v°ß ÷|õUP[PÒ ¯õøÁ? 

2.  State the major sources of long term finance. 
 }shPõ» {v°ß ÷©»õÚ Buõμ[PøÍ SÔ¨¤kP. 

3. What are the factors determining capital 
structure? 

 •uÀ Aø©¨¤ß wº©õÛUS® PõμoPÒ ¯õøÁ? 

4. What is meant by receivables management? 
 ë–Ëuμ ì©°êsí© GßÓõÀ GßÚ? 

5. What do you mean by dividend? 
 £[Põuõ¯® GßÓõÀ GßÚ? 

 UG-231 BCS-31/BAF-31
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the merits of debentures. 

 PhÜmk £zvμ[PÎß |ßø©PøÍ ÂÍUSP. 

7. Discuss the net operating Income approach to 

capital structure. 

 •uÀ Aø©¨¦ {Pμ ö\¯À Á¸©õÚ ÷Põm£õmøh 

ÂÁ›. 

8. Explain types of Leverages. Explain its 

significance. 

 ö|®¦÷Põ¼ß ÁøPPøÍ ÂÍUSP. AÁØÔß 

•UQ¯zxÁzøu ÂÍUSP. 

9. Explain the factors determining the working 

capital requirements of a firm. 

 {v {ÖÁÚzvß |øh•øÓ •uÀ ÷uøÁø¯ 

wº©õÛUS® PõμoPøÍ ÂÍUSP. 

10. Discuss the factors that influence the dividend 

policy of a firm. 

 £[Põu¯ öPõÒøP°øÚ £õvUS® PõμoPøÍ ÂÁ›. 
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11. Briefly explain the MM approach of the concept of 
Dividend. 

 £[S Buõ¯ P¸zvØPõÚ G®G® AqS•øÓø¯ 

_¸UP©õP GÊxP. 

12. Analyse the different functions of finance. 

 {v°ß £À÷ÁÖ £oPøÍ¨ £S¨£õ´P. 

 

––––––––––––––– 




